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#malgamation of Companies (Asin)
1) Amalgamation means Acquisitions , Mergers ,
absorption (or) Take over of another Company.

2) Merger = When Two or more companie
decided to merge their Busines

② Form a New Company.

Vodafone + Idea = VI

Under Merger scheme ,
SH of existing Companies

will get equal power (Control) in the new

Company .

3) Acquisition / Take over ! Types
Catsorpicy

⑨ ②
-

Physical Holding-subsidiary
Take Over relation

Where acquired Co. ↓
is closed (wound up) Company acquire
its Assets/Liabilities

One than 50%& (are taken by Acquirer Co . OF Equity Shares

↓ Of another Company⑭4
A + B = A
⑪21
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4) Amalgamation also lovers "External Reconstruction"
A=New

of There are two entities (Partier) in Amalgamation
--

Traveferor Transferree

(Thor) (tree)↓ ↓
An entity whose Business An entity
(Assets & Liabilities) is who acquires

tomferred (SOID) the Busines

(Asset/Liado)

6) Tree Shall discharge Purchase Consideration
For Purchase of Business to SH OF

Twor . (Equity+ pref)

7) ↑C can be discharged in any form

Such an :-

Cash

Equity Shares of Tree
Pref . shares of Tree
Debentures of Tree

or in kind (property Tumier)
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8) Tree Co
. Will get the Business (ie Netfeets)

OF Twor Co.

YetAssets :- a) Assets
() Liabilities

to+Ps- Boot

9) Accounting of Amalgamation :-
We will cover the Accounting For Both

Entities-

1) In the Booke of Tree (AS(Y)
2) In the Books of Twor

10)Book of Tree Co.

Tree Co . Shall discharge the PC to
The SH Of Trar Co.

to
How toCalculate PC ?

↓
PC shall always be based on Fair values

(Market
values)
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: - Data acquired JLtd's Busines

D2td Shall Discharge PC in the Form OF

Equity Shares as per Following Financial

position of JLtd.

BalanceSheet of Thed
--

Esc(01-) 200 ,000 Nan Grent 1200000
- -

Ras 500 ,
000 I Assets

current 800000Liabilities 1300000 Assets &
&

an. I Tolan.
-

MarketValues :- Non Current Assets = 30lau.
Current Assets = 10 Man

Liabilities are at proper
Value Subject to

additional 457 Liability
OF 50 , 000.

calculateamount & no of thoses
to be discharged by DLtd if MP

per
Share of D Ltd is 201-per share.

Solution
↑C shall be Calculated Considering Market

values of Assets & Ligh . Of JCtd
:

-
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Nocur . Assets 30 las
Current Assets 10 las

.

(f) Liabilities 13 las
Cf GST Liab 0 .5 las

.

Put.so lac

↳interm ofNoshar- 132500 no

to be issued
Amet . by Datde.No . -
- 201-

& X 265000d-
%

&a2 :- D Ltd acquired JLtd's Business

FoThese 25tan.
Bas coracit
-

Liability 181a. C . Assets 15lace
.

- -

D shall issue EquityShares For PC whose

Face value is 101- to be issued at 20%

premium .

There is an Unrearded Liab . of Jdtd of 1000001-

also to be taken over.
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Calculate PC

tion Here Fair values are not given Hence
We have to assume Books values as Fair
Values

.

Pc = N . c Assets 2500000
! I

C . Assets 15, 00 ,000

( Liac . (18 ,
00

,000)
(f) Unrecorded /1000,00)

Liado .

PC aret#, 00 , 000=

-

PC(0)=175000 n

&upon
s

300004

Burn it Ro
&E 500 ,000Current Assets 10

,
00
,
000

Liabilities 22 ,00 , 000

-

Solan. zolas.
-

PC to be discharged by D in the Form of

shares only
I

Mp per share 501- 601-
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sol) :-
Here Ev of Assets/iab are not given but
Mp per share of Tor Co . is given
Hence

,
PC Can be calculated at Fair

Value an Under-

30000 * 601- = 18 ,
00 ,000&

(Trais mo . Or JMP OF Tra) Pa
Sharel

No. ofshares
= 1800000 = 3600in PC to

be issued by D

:- Datod, acquired, Jhtd
Jud . BIS

Clas. RaB 18 lan
- IRas It low . Snow 12 laes

.

LiabRoles . Oreste 10 ans

To
-

Dead Share issue shares to J as PC
in 3 : U

Mp per share of D is For
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Sol) !
-

P = =00004337500 no(no)

pant => 37500 n0. X 701- = 26 ,25,000
issued D's
by D MP

Case5
:

- Pc is based on Ex . Ratio as well as
-

Net Assets value

DLtd
. acquired Busines of JLtd

BIs of JLud .

(101) Ess 22 ,00, 000

Ras 27
,
00

,
000i.Pam 15.00

, 000

30 , 00, 000

Assets
-

-00, 000 6700, 000
&-

a) Goodwill Value of JLed is 50000
also to be Considered.

6) Mr of Lab a Pam are 28lan.
& 12 lace respectively

2) DLid .
Shall issue 4 shares for each of

6 Shares Held by Sh of JHd

② remanning art. to be paid in cast.

d) Mp per share of D is 801
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tioOtal PC =) Net Asset
values

.

e. Ratio Pe

Cash
-

Net Assets (FV) Lab = 28 las
Pam = 12 face .

Goodwin =5 192.
CH = 30 las

↳) Liab = 34 lan .

Yo
discharge in RemainingShase

Bal .as per Ex . Ratio

↓ in Cash

60000 X Y ig0000T

40000 no . It's shares
-
32

,
00 ,000
-
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Note :- If the statement "Remanning to be paid in

Cash" is not given
in the same Situation

↓
Calculate the pc an per Ex

Ratio only
even though Mr of Assets/Liat-

are given

6:- Pe based on Intrinsic Value

BalanceSheets Tras

DTree -Tran DTree J

ES[ 10,00 , 000 700000 Lab 2500000 3200000
↑

-

(1017 Pau 16 , 00,000 20, 00, 000

Ras 20 ,
00

,
000 15,00,000

&

PSC 500000 400,000 C 40 ,
00, 000 10

,
00, 000

& e

Liability 46
,
00,
000 36.00, 000

-

81 62 -62
-

-

1) D acquired J & becomes DJ

equity
2) D shall issue share to SH of J

based on Intrinsic values of Shares
OF Both Companies ,

3)Mof Assets/List.Gree) =(Trou)
Land Building 20% Higher 20% Lower

Pam 30% Higher 10% Higher
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4) PC to pste of Jhtd .
Will be prefshore

OF D OF E6
,
00 ,000

5) Goodwill of Thtd is 300000

Calculate Total PC

out
mic value per there should be

Calculated an Under :

-

All Assets- Fr/Bur
notgiven(including Goodwill or Unrecorded Assets)

(f) All Liabilities- (FulBr)(including Unrecorded Liabilities)

#) PC to PSH

Net Hosetsavaila
For ESH

-

- No . of Shares -XX

pershare
Deemed
Mp per Share

(Jugaaduy
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Particulare D J
- --

LaB 30
, 00 ,000 25

,
60

,
000

Pam 20
,
80

.
000 24 ,00 , 000

CA 40 ,
00

,
000 10, 00 , 000

Goodwill -
3

,
00 ,
000

(t) Liabilities (46, 00 , 000) (36 .
00 .000)

() Pref . Sh . Holders

-

available for
Est

3500000 /GoodNet Asset

- ·
&

100000 7000
-

⑳ per share
39 . 8)- 26 .57/

↓
MP

PCkyDL+d => 7000 X 2657=60000
= 46733 no .

398
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RemainingFor Fractical Shares to de paid
in Carh = 271- (1860000 - 1859973)

Inclusion- Case() & Case(6) are almost Similar

only difference is :-

a) In Cases
, Mp per share was

available

6) But in Cases
,
MpperShare

(ie Ev per share) was first
Calculated

Case-7 PC shares basedan profitability of-

Entities.

Tree Co
.
shall issue Share to Tor Co.

Chid . is Tree, Acte & Bed have

decided to merge
their Business

Chid . Shall issue 30,000 shares in total to

SH OF A &B . Distribution shall be made

in proportion of their Aug . profit of Last
3 years. A B

-

! 50000 350000

750000 640 , 000
-

3 1300000 11
,
10
,
000
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CLtd. Shall issue its 101 share at 50%- pressive
Calculate PC For Both

Sol):ug profits :-
Add.50000 = 850, 000

BLtd .=0000 = 700,00

Distributionof PC :-

TOSH OF A = 30000X50 = 16452 no .

& 50+700=01

To SHOFBe 30000X = 13548 n

=
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Case-8 A Ltd . acquired BLud
.
PC will be

--
given an Under-

a) 15000 no · Of shares to be issued

Mp
per share of Alta . 251-

6) Also , Added will issued 8 % pref - Shares
of 100 each of such adeguet amount
which will be sufficient to Cover
TheirIncome expectation & 10%

on their existing Capital employed.
Net Asset

EsBL
DE 21 , 000,00

Ras Blac
15,00 , 000

Listvin solan)
-

-

-

stan Glass.
-

Fr Of PREaCh is 25las 2 18 lan
.
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Sol) : -
Calculation of Capital Employed (NetHeset)

PRE = 25,00 ,
000

CA = 18, 00 , 000

Liab . = (10 , 00 ,000)

Cap . Emp .
=500

. 000

Income Expectation = 330, 000

& 10%

(Every years they will get Ref .Dive Of 330000
& 8 % return)

Art.Layettomine,
Trop

15000 X 25 375000
of Tree -

ESH of 8% Prefe 41
,
25,000

Twos shares (0000:10
41250 no .

-

45, 00,000
-
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& :- Datd . acquired Business of Jatd .

on the basis of Intimic values
Of Both Companies
I I

Iv (Deemed 1251- 1801-
MP)

No.ofShares of JLtd are 900000 no.

Pe share to be issued by D & Face value
only

Ev = 1001-

&

layoutto retin workingAat
ESH of Eg . shares
Tras of Tree 190000X18 1

,
29

,

60
,000

129600 no.

X1001-
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Booksof Tree
Co . (purchasa

↓
TwoMethod of Accounting

--
If Amalgamation If Amalgamation
is in the nature is in the nature

of Purchase of Merger
↓ ↓

apply "Purchase method" apply
"pooling Of
Interest
method"

9) Amalgamation in the nature of purchase :-
Here the Intension of Tree 10

. is to purchase
The Busines Of For Without giving them

equal powers of decision making .

↓
How ?T

discharging PC to the SH in

the Form of cast (a) pat . Shores
(0) debentures But not in equity
Shares (or) Very low % Of equity shares
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2) Amalgamation in the Nature of Mager :-
Here the Intension is to Merge the Business

of Both Companies by giving equal rights
to the SH OF For Co .

Both SH shall work together I take
decisions together
Saath me Milkar( kaam Karenge)
If below 5 conditions are satisfied then

the amalgamation shall be treated as
Merger :-emp
: All Assets & All Liab . Of Thor Co . must
be turen over by Tree Co.

(recorded on well on Unrecorded)

2) EquityShareholders of Foo Co . holding
atleast 90% of Total equal mee must

SH)

agree to become the ESH of Tree Co.

3) PC toE of Tra Co . must be discharged

& in the Form of Equity Shores of Tree Co.

only
(However , Cash Can be given For OnlyFor

tractional share
-

(
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& All Assets & Liabilities taken over must be
recorded at Same Book value
-

(However ,

to apply uniform accounting policy
on Assets/Lias . Of Two Co

.,
these Absets/Liab -

Can be adjusted a recoded at different

values
- pe can still be calculated at Fair value only.

of BusinessForCo . must be carried on
-

by TreeCo . aftermenger
(Intention toCarry an Business must be

Checked)

Amalgamation in the Nature of Purchase
-/inte~ Only Assets/Liab.

Recording Of Discharge of Two are
Not mandatory Assets/Liat : of PCI taken over.
to take over taken over

All Assets/Liaso .
↓ may be Ras of Twas

in any
Of Twor Esprising : allanyvalue Form shall not

(All Assets/Liah. (not necessary
be recorded

may or may
notPriority = Book in equity byTree

Valuebe taken overs if Fr are missing
Shares) except

Statutoryares
of The
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Calculation of Good will
-

Methode of Calculating Goodwill For Amalgamation
Method & :- Aug . Profit method

Goodwill is 4 years purchase of Aug .Profit

of Last 5years of profits

Goodwill = 4xAvg . Profit
est. Future profit

-

Part profits

↓ Exx & &XXX XXX XXX

(H) Elimination Loss+ Gain (f
Of Abnormal

Losses/(Gains)

#) any other
non-recurring

exp/incove

It NonTrade
Incomes

partproiAdjusted

Simple (w) weighted
Aug .

= 21
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Methodsper profit method :
-

Goodwill is 3
years purchase of SP

Goodwill = SPX 3

90000
Sp = Aug Profit - Normal profit

153000

Normal = Capital Employed(X)(1) 10%
profit Trar 900000

Method3:- Capitalisation method
(Capitalisation of SP method)

Goodwillpro Actual Capital
employed

itna
Capital Lagana Padega-

ita Capital actually
Lagaya Hai

Note :

- How to Calculate Capital Employed
-

For the purpose of Goodwill

All Assets - XXX

(excluding Non Trade Investments) (Fr/Bv)
& Fictitor Assets

C) All Liabilities
-> a per

existing- BIS
not the
-

Settlement value Capital Employed
T-

=22
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Elimination of Unrealised Profits on Unsold Stock

Under Inter Co . Transactions

-Now Treatment
Find out Calculate of Unrealised
Unsold Goode Unrealised profitvalue with profit on

Trar orTree Such Unsold Jisne profit
Came from Stock earn Kiya Uske
each other based on Margin (1) Reserves Se

given Eliminate Karo

agar Uske Ras

Twee K pas

Example
no

Hai took ....

Refer Otherwise

Must 221 Goodwill/CR should
20 be Debited

--
if Tree earned if Tar
The profit earned the

↓ profit

Ras ↓
To stock Check nature

Of Amalgamation
--

Purchase Mengel
↓ ↓Since Tree doesnothave Ras Ras

OFTro Hence :- To Stock
CR/Goodwill Dr.
To stock



 

CA. JAI CHAWLA (FCA, M.COM, DISA, IFRS) (7887 7887 05)                                       Page | 20  
 

 

 

Example:-Thee SOID goods toTur
Total Cost = 280000
Total Sp = 350,000

Unsold goods With Far out of above=00
Tree took over the Business of Tra &

Inventary is taven over at 20% Lesser value

tion :
-

Unrealised profit = 000 x 120000 = 2000F

24000 should beeliminated from Inventory
Of 120000 ② after elimination Inventory
will be it 96

,

000

However
,
Tree Co · took over Inventory at 20%lesser value i.e at 120,000 - 20% = 96000

Conclusion- No need to eliminate Up
-

Can : - Inventory took over at 10% Lesser Value
Here Inventory took over at 108000

But actual cost of Inventory 96,000
-

Unrealised profit to 12000-
be eliminated
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-Inventory took over at 20 % Higher
Value

Maximum Unrealised profit to be Climated is 24000

First Inventory is taken over at 144,000

in endently.

Noweliminate Up only to the extent of 24000

Hence Net Inventory Balance in Bl

-
144000 I

(f up 24000
9
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Amalgamation in the nature of Merger
(Accounting)

- Assets/Liab . should be recorded at BV

except when Deon taken over at any
Other Value (Settlement value)

2) Unrecorded Assets/iab. Shall also be recorded.

3) In and entry
the difference shall be treated

as Under --&
Debit Side Credit Side

to to

GR Shall be Debited First Palak shal
beHaven First

if it is available

then ar ShallOtherwisePa
be taken fer
The Balance Aut

4) How to identify the difference in Zentry ?↓
Compare Total PC value with Total Share Capital

OF Twar

↓ ↓ ↓
PC = Sh . Capital PDS( PCSC

↓ to tr
Here all Reserves of Here Lower Here more

Too shall be created Value of Reserves Reserves Will
will be be created

atSame value Created (GR/PM) (GRIPEN)
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Example

-T
SP ~ I das I

PPE

EPR - 2 19a .
CA in face .

ar 5 lau.

10%Dean 12 las .

-o I Solan .

-

a) PC in Form of Shares = 17 las

⑯ 10% Deb"Holden will be given New 8% Deon

to maintain same interest.

sol) :- Settlement value of :15Dean

Zeury:- PPE al Dr . 16 Man.
CA al Dr. in las
-because GR Palak Dr. 5 lac

Can not

be negative To Debn Holders 15las
.

To BIP 17 las
Minimum [ To SP ⑭Maintain To EPR

PC = 17
Sh . = 10 GR(Tro)5
cap- - Nahi Kiya

Flan .
Reserves d 3 Mandatory-

-Create king a
Create Karna Hai

Porrata
.

Reversal
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Book Of Twor Co . (Dissolution
Steppi- Close all Hosets & Liabilition to

realisation Alc at BV

Cash/Bank shall be closed only if taken over
otherwise make a separate account.

Close Capitale & Res to Shareholders Ale
(PSH 2 ESH)

(Bls at actit Kard)

Step2 :- Purchase Crideration shall be

accused
I
Tree al Dr.

To realisation

(pc at due det)

Step3 :- PC shall be receivedI
She 500000 Cash Dr.

Y Shares /Deon Dr.->5
To Tree Co.

(PCa Receivedt)
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ep4 :- Dischare PC to PSH First ② transfer
The Difference to Realisation All

IPSH at Pc paya

Step5 :-those Assets Kiab - Which are not taken
-

over by Tree shall be settled in Cash

by Twor along with Expenser :

-

Cash Dr. . Realisation Dr.
To Realisation To cast

(sale of Asset) (Payment of Liah/Erp)

Stepsi-Close Realisation A & tumfer

Gain/loss to ESH Af

Crealisation at close cut)

Stept :-Po to be discharged to ESH along
With Cash/Bank Balance

(PC at discharge at Este a)
Final Balance = PC FRESH (H) Cash
OF ESH available

if
any
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Important key Points to solve the Question

1) Whenever any Question
is Silent about

taking over of any Assetfiat , always
assume that all Such Assets/Liab . are

taken over2 recorded in the Books

of Tree Co.

2) Debtors are taken over at BV Subject to
a provision of5%(a)
Debte are faren at 5%1. fesses than BV

BothStatements have same interpretation

② we will always create provision separately
& Record Debtors at Gross value.

3) In Amalgamation inthe nature of Merger,
Unrecorded Assets/Liab · Can also be taken

over a readed at their agreed values.

4) Amalg ,

in the of Marger =) All Ras of Tra
-

shall become Ras Of Tree & taken in

The Following Sequence
:
-

a) see premium
6) Revaluation Resare

c) Capital Reserve

d) any other Resave (except
GR &
Pay

e GR

#) Po /Salose last me)
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-any Adjustmentof taken over shall
be reflected in PE First & then GR.

5) Deon of Too shall always be taken
over at Settlement value in both

methods (Purchase as well on merger)
* settlement value can be at premium
(r)at Discount (or) at same Book T

value-

6) Whenever pc is calculated by Not Assets
Then Dean shall be Considered always
at Settlement Value.

Also
,

in Indently Of Assets Kiabilities ,

Debu

will be headed atSettlement Value .

*Treat Book value as Settlement Value
if not separetly given,

7) Enter Co . Debts are not considered in PC
calculation

.

8) When there are more than 1 Tor Companies
then while passing2nd entry of Assets & Liability ↑

Always pass separate entric for all TirCompanies
So that Goodwill & CR

of each Too Can be

identified.
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9)Treatmentof amalgamation Expenses fore by
Tree lo.

↓
Expense shall be first setof with
CR balance available if any.

If there is insufficient CR Balance

o No CR Balance then Good will

shall be Debited.

CRak Dr. (to the extent
Goodwill ak Dr.

available Bal .)

↳and priority

To Bank

10) Final Els of Tree after Amalgamat must
show Good will & CR Separately; if there are
two transfers co . With one having Goodwill
② another having CR .

11) If Question ask to wore (or amortise)
The Goodwill after amalgamation
then Following Entry shall be passed

:

-

CRak Dr . (if available)
Par(au) GR Dr .

To Goodwill
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12) CalculationOF Net Assets/Capital Employed

↓ ↓

For the purpose
For the purpose

Of Goodwill Of PC

↓ T-
Debtes

lessprovision PC is
All Assets- Fv/BV Pc is baseda based a

(except Non Intrinsic
Income Expectation
Such an 10%

Trade Zuvst) value (or) return& Fic. Asset Net Assets Value
& Existing Goodwill to See

Next
If All Liabilities -(Cristing All Assets - FulBu page

(including Non
If any unrecorded - (XX)Liab .

Trade [uvst)
- excluding fie.
ClEmp . Asset
-

includingUnrecorded
Asset

(H) Goodwill -XXX
Calculated

If all diabilities - Settlement
Value

If

PCtopsuE
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Capital Employed When PC is based on Incorr

expectation of SH on their existing ClE Of
Business ↓

Fr/BVAll Assets - XXY

(including Unrecorded& NonTrade Invs)
() All Liabilities - at

(including Unrecorded liab) existing
values:

(H) Goodwill if any -*

(f) Payable to PSH - XXX

-

Capital
Employed

For ESH
-

13 When Goodwill is given For Tree & Twor
,
it is given(

For Calculation Of PC.

While preparing Final Bl of Twee ,
Goodwill of

Twor shall be readed .
Since it is purchased good

will.

But Tree's own goodwill even
though given in Question

can not beshown in Blan it is a selfgenerated.

-
tree's Goodwill is given so thatTV per show
of Twee Can be Calculated.
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14) Irrespective of any Accounting method
( Purchase or Merger) PC Calculation

would be same.

It means
,

while Calculating PC

it shall always reflect the Fair value

even though Amalgamation is in the
nature of Merger.

15) Also , Settlement of Deth Holders of Twor
at different value other than Book Value

may happen under Amalgamation in
The nature of merger.
Hence

,

incud entry of All recording !
Deb may be recorded

at Settlement Value

instead of Book value.

16) If Mode ofSettlement of Debentureholders
of Ther is not given then Debentuseholders

shall always be settled by issue of same

Debenture With Same Interest Rate.

17) Fictitore Anot Such as "cost of Issue of
-

Defn" a "Preliminary emp" (2) "Pre incorporation
exp Of Thor Co . Shall always be

Worf From Pal all of Tur . Co . before take Over.

(Refer a 302B)
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18) Consider these adjustment & With Following
Alc Treatment :

-

--
⑨ ②

Debentures of Tow Debentures OfTue

(200 ,000) shall be (200000 Shall be
discharge at 5

% 1 given New Dabenter

discount by issue of that ant

Of New Debenture which is sufficient

at

par
to discharge at
5% discount

Settlement 200,000 - 5%
after take over

Value ↓
= 190000

Settlement200a
New Deen of 190,000

at par tobe issued
New Def" Share we

issued at 951-

per Debn

19) If Goodwill is appearing in By of Tar Co.
Then should we consider it o not ?

↓ ↓
Calculation of Calculation of Net AssetsNet Asset/Cap . Emp

For the Propose of pCForCalculating
Goodwill --

If PC is based If Selected

↓ an Intrinsic Assets2
Value (a) Liabilities
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Do not take all Assets/Liat are taken

existing goodwill taken over over (not
here tr all)

Take existing ↓
Goodwill also Do not

in Net Asset take

if there is existing
No new goodwill
Good,will (Refer

(Refer 2402) Class Ex
Pg . gef

* New Goodwill which is required to be
calculated shall always be taken for

Net Assets/PC Calculation-

20) Workmen Compensation Reserver
↓
BI (extract) (Twor)

Work Comp . Reserve 8000

(Actual Liab .

/good I
-
-

Ivor Booke Tree Books
- -

a In Realisation Af Close a Tree shall take
W . C . Liab of 5000 over 5000 of

Liability
6) In E3H Ac Close 3000

1) If PC is required
of Reserve an per NAssets



 

CA. JAI CHAWLA (FCA, M.COM, DISA, IFRS) (7887 7887 05)                                       Page | 20  
 

 

 

then this 500
Liab . Shall be

Greidered

c) If Amalg ,
in the

nature of Merger

↓
then W .C . Reserve
of 3000 should

be maintained

in and entry

2)) Liquidation exp - given But not mentioned
that which company will bear

,
always

assume it is bane by For.

22) If any Asset is not taken over then
What will be the treatment in the Book

of Thor ?--
It is an It is a Tangible
Intangible Asset

Asset --
-- Separate Sale

Value

Separate Separate Su is not

Sale Vale SaleValue
is given

is given
t

is
notgiven

toRaisTResiSeBV


